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A:Tomorow, the school has a plan and the students are ............................ on a schooltrip. (go)

B:The number of cheetahs ......................... in the future. ( increase)

(el (il al S) A JalS | ke 04 sl SIS L
anymore — injured — save — zookeeper — natural
1) Humans destroy the ............ homes of the animals in the forests.
2) Nowadays, some hunters don’t go hunting .............. and don’t hurt animals.
3) After so many years of research, doctors could find a newway to ............ people’s lives.

4) My grandfather was badly ............ in the war between our country and Iraq.
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1) Pleasepaya-------- to that sign and don’t swim here. It’s dangerous.
2) The Persian lion d- - - out about 75 years ago. They are not alive now.

HIW --m-- are very big sea animals that live under water.
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1) Hamid’s leg broke in the football game, so he can’t walk. He ............ at home for a week.
a) will stay b) is going to stay c)stayed d) stay
2) M:rKress is a tourist. He usually ............. different parts of the world.
a) is going to visit b) will visit
¢) visits d) go to visit
3) A: Do you like to come with us to the cinema?
B: Yes. But I'mnot sure for my work. Maybe I .............. with you.
a) comes b) came c)amgoing to come  d) willcome
4) A group of students were watching some ............... in the zoo.

a) wolfs b) wolves ¢) bird d) wild tiger
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